
  

٠٠� mmو ار���ع  ٣٠٠ mmدر ��� ��� رو��و، از ��
	 �� ��ض  .١ ��ا&� ��ا% $�ا#" ��� از . ا�!��د� � � ا
�٢(ر���)ره�% Φ �,�(-
 :ا�!��د� &�دد �

  
         f'c=25Mpa    DL=20KN/m     ،  $�ا#" (ر���)ره�% 3�4�5" و ��%2 ��
	 )ا0/
         fy=400Mpa     LL=14kN/m    ،رد&" در �4�5; و ��%2 ��
	:3!�ل ��8 7)) ب 
                  �=/kN 25        ،:3!�ل �7@ در و�? ده�<=) ج 


	 در دو 42= ا�!��د� &�دد(ر���)ره�% �4�5; :������.  
 

��0; �= ده�<=  .٢ B4 /���،  ١٢ ��mا% 5)��< ن ���7!= د�� �" �
��D ��� رو��و ا�!��د� � � ا E�5 %ه� /��از 
�.٣ /KNو ��ر ز< � <�@   ٢ /KNا&� ��ر ��د� اF�G" وارد �� د�� �" ��ا��  �,�(-
�  ���: 

� ه�% �H!-/ د�� �") ا0/I,J %(ر���)ر ه�% 2زم ��ا =L��M�         f'c=25 Mpa          
          fy=400 Mpa              :3!�ل ��ض ��8 7)رد&")  ب
  �=/kN 25              :3!�ل �7@ در و�? ده�<=) ج 

      
  .ا�!��د� <٢٨Φ  �P�Iو ��ا% (ر���)ره�% $)0" از (ر���)ره�%  ١٠Φت از (ر���)ر �7�)��ا% : ����
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